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NO. 16
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+0. 000 7.800 0. 87 0. 87 6.79 0. 87 0. 87 6.79

NO. 18
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V2= 0.540 = 10.000 X 61. 800 = 3.337
REWHAIE (6250)
V3= 1.177 = 10.000 X 4.000 = 0.471
b o= — A5 (¢ 300)
V4= 0.311 = 10.000 X 2.100 = 0.065
b = — A% (¢ 350)
V5= 0.384 = 10.000 X 5.000 = 0.192
SV = 4.149 m’® 4.15
BOEHR LR
Py 70— R V= 4,149 = 4.149 m’® 4.15
AR M BE| A= BEBUENEFEELDY = 66.800 | m?® 66. 80
(t=4cm)
a4 48 kR ) M| L= 43.80 + 3.60 + 157.93 = 205.330 | m 205. 33
(t=4cm)
O LB
TATTVMEREERR | V= 66.800 X 0.040 = 2.672 m’® 2.67
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JL—F r#EE| N= 10,000 = 10. 000 X 4. 000 = 4.000 ¥ 4. 00
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U = # (240A) Ht & (10m% 1)
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o 3
-
v PR &t = BAT| # =
a7 U—Fk | V= ( 0.330 X 0.290 — 0.240 X 0.240 )
=7 U—1)
X 10. 000 0. 381 m?® 0. 38
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50 300 50
s S
G‘I
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a7 U—Fk | V= ( 0.400 X 0.360 — 0.300 X 0.300 )
=7 U—1)
X 10. 000 0. 540 m?® 0.54




B ok f # (6250) (10m% b))

460

45 60 250 60 45

L=1000

W= 31.00 X 10.000 = 310. 000 kg 310

Lo
Lo
Lo
Lo co
Lo o~
<+
l_f.')l
4 i 7t B HAL B &
a7 U—F | V= ( 0.460 X 0.455 — 0.370 X 0.055
=7 U—1h)
— 0.250 X 0.285 ) X 10.000 = 1.177 m? 1.18
7L —F 7| N= 10.000 — 1. 000 = 10.000 e 10. 00




t =2 — A% (6 300) (10m% 1Y)
4 LN 7t 1 BN =
a7 U—k | V= (X 0.360% / 4) —( xX 0.300?
=7 U—1)
/ 4 )} X 10.000 0.311 m’® 0.31




t o — A% (¢ 350) (10m%41)
4 LN 7t 1 BN =
a7 U—k | V= (X 0.414% / 4 ) —( X 0.350
=7 U—1)
/ 4 )} X 10.000 0. 384 m’® 0.38
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(10m34 1)
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4 PR 7 B BAT| & 5
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A e AN = S
OAE I B & 3 W
3] BE # E({t=4cm) i 5
& ERE | B & ENE | R & g | R & ERE | &

NO. 7

+1. 100 .06 — —
NO. 8

+0. 000 18. 900 .06 0. 06 1.13
NO. 9

+0. 000 20. 000 .00 0.03 0. 60
NO. 10

+0. 000 20. 000 .07 0.04 0. 80
NO. 10

+10. 400 10. 400 .05 0. 06 0.62
NO. 11

+0. 000 9. 600 .05 0. 05 0. 48
NO. 11

+19. 200 [ 19.200 .05 0. 05 0. 96

B .52

NO. 12

+2. 200 3.000 .52 1.52 4. 56
NO. 12

+4. 600 2. 400 .52 1.52 3.65

B .80

NO. 13

+0. 000 15. 400 . 80 0. 80 12. 32

mZ
N F 118.900 25. 1




iR M B O & B HOE

3] S| e %ﬁ = JE(t=4cm) {itd =

~ Mg VE | B & & EEE | & M EE | B & & VR | B &
NO. 13

+0. 000 0. 80 — —
NO. 14

+0.000 | 20.000 0.72 0.76 15. 20
NO. 14

+14. 500 | 14.500 1.10 0.91 13.20

Gl 0. 00

NO. 15

+2. 200 7.700 0. 00 0. 00 0. 00
NO. 16

+0.000 | 17.800 0. 00 0. 00 0. 00
NO. 16

+11.000 | 11.000 0. 00 0. 00 0. 00
NO. 16

+12.200 | 1.200 0. 30 0.15 0.18
NO. 17

+0. 000 7. 800 0. 30 0. 30 2.34
NO. 18

+0.000 | 20.000 0. 30 0. 30 6. 00
NO. 18

+9. 000 9. 000 0. 30 0. 30 2.70
NO. 18

+16.000 | 7.000 0. 30 0. 30 2.10

mz
/N # | 116,000 41.7
mz
& | 234.900 66. 8




